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經原總體篇96/下     期末考   班級：        學號：           姓名：
Mankiw Ch 23-36  (2008/06/19, 10:10-12:00 pm)  
總分：110分
I. Multiple Choices (單選題，36 points, with 3 points for each question)
Ch 23
1. Which of the following is a better measure for the standard of living of a nation?

a. growth rate of real GNP.
b. real GDP per capita.
c. nominal GDP.

d. real GNP.

Ch 31

2.  Which of the following could be a consequence of a depreciation of the Taiwan real exchange rate?
a. John, a French citizen, decides that Taiwan’s pork has become too expensive and cancels his order.
b. Nick, a Taiwan citizen, decides that his trip to Nepal would be too costly and cancels his trip.
c. Roberta, a Taiwan citizen, decides to import more windshield wipers for her auto parts company.
d. All of the above are correct.
Ch 31

3.  An increase in the Taiwan real interest rate induces
a. foreigners to buy more Taiwan assets, which reduces Taiwan net capital outflow.
b. foreigners to buy more Taiwan assets, which increases Taiwan net capital outflow.
c. Taiwanese to buy more foreign assets, which increases Taiwan net capital outflow.
d. Taiwanese to buy more foreign assets, which reduces Taiwan net capital outflow.
Ch 25
4.  Other things the same, if a country increased its saving rate, in 40 years they would likely have
a. higher productivity, and a higher growth rate of real GDP.
b. higher productivity, but not a higher growth rate of real GDP.
c. the same productivity and growth of real GDP they began with.
d. None of the above are correct.
Ch 27

5.  A risk averse person

a.
has a utility curve where the slope increases with wealth, and might take a bet with a 60 percent chance of wining $100 and a 40 per chance of losing $100.

b.
has a utility curve where the slope increases with wealth, and would never take a bet with a 60 percent chance of wining $100 and a 40 per cent chance of losing $100.

c.
has a utility curve where the slope decreases with wealth, and might take a bet with a 60 percent chance of wining $100 and a 40 per chance of losing $100.

d.
has a utility curve where the slope decreases with wealth, and would never take a bet with a 60 percent chance of wining $100 and a 40 per cent chance of losing $100.

Ch 36
6. Which of the following is not an argument against policymakers trying to stabilize the economy?

a. Economic forecasting is highly imprecise.

b. Long lags may cause stabilization policies to in fact destabilize the economy.

c. Monetary policy affects aggregate demand by changing interest rates.

d. Fiscal policy must go through a long political process.
Ch 35
7.  There is a

a.
short-run tradeoff between inflation and unemployment.

b.
short-run tradeoff between the actual unemployment rate and the natural rate of unemployment.

c.
long-run tradeoff between inflation and unemployment.

d.
long-run tradeoff between the actual unemployment rate and the natural rate of unemployment.

Ch 32
8.  Which of the following is included in the demand for NT dollars in the market for foreign-currency exchange in the open macroeconomic model?

a. A firm in Kenya wants to buy rice from Taiwan.

b. A Japanese bank desires to purchase Taiwan Treasury securities.

c. An Taiwan citizen wants to buy a bond issued by a Mexican corporation.

d. All of the above are correct.
Ch 31

9.  Suppose a McDonalds Big Mac cost $4.00 in the United States and 3.20 euros in the euro area and 5.20 Australian dollars in Australia. If exchange rates are 0.75 euros per dollar and 1.3 Australian dollars per dollar, where does purchasing power parity hold according to the Big Mac index?

a.
Both the euro area and Australia.

b.
Neither the euro area or Australia.

c.
The eruo area but not Australia.

d.
Australia but not the euro area.

Ch 30

10. When the price level rises, the number of dollars needed to buy a representative basket of goods

a.
increases, and so the value of money rises.

b.
increases, and so the value of money falls.

c.
decreases, and so the value of money rises.

d.
decreases, and so the value of money falls

Ch 34

11.  If net exports fall $20 billion and the MPC is 0.8 and there is a multiplier effect, but no crowding out and no investment accelerator, then

a.
aggregate demand falls by 16 billion.

b.
aggregate demand falls by 80 billion.

c.
aggregate demand falls by 100 billion.

d.
None of the above is correct.

Ch 29

12. If a bank uses $100 of excess reserves to make a new loan when the reserve ratio is 20 percent, this action by itself initially makes 

a.
the money supply and wealth increase by $100.

b.
the money supply and wealth decrease by $100.

c.
the money supply decrease by $100 while wealth decreases by $100.
d.
the money supply increase by $100 while wealth does not change.

II. 計算題 (總分：28 分)


計算題請寫計算過程，只有答案不計分。
Ch 23
1. The nominal GDP per capita of Taiwan in 2006 is NT$ 523,000.  In 2007, the nominal GDP per capita is NT$550,000 and the real GDP per capita is NT$572,000.  Compute the GDP deflator in 2007 using 2006 as the base year.  Also compute the annual growth rate of the real GDP per capita and the corresponding inflation rate.

(6%)
Ch 28

2. Suppose that Taiwan’s adult population was about 16 million, the labor force participation rate was 65 percent, and the unemployment rate was 4 percent. 
What was the number of people employed? _____________ 
What was the number of people unemployed? ____________
(6%)
Ch 26, 30
3. You put money in an account and earn a nominal interest rate of 6 percent, inflation is 2 percent, and your marginal tax rate is 20 percent. What is your after-tax real rate of interest? ___________________ (4%)
Ch 24
4.  The nominal monthly wage of a Taiwanese worker in 1981 is 10,000, and the nominal monthly wage in 2008 is 44,000.  The CPI in 1981 is 64 and the one in 2007 is 105.  Please measure the 1981 monthly wage in 2008 dollars.  Does the worker’s purchasing power rise or fall? (6%)

Ch 27
5. A firm has one investment option which costs $27 million.  This option will give the firm $5 million at the end of one year, $10 million at the end of two years, and $15 million at the end of three years.  The prevailing nominal interest rat is 4% and inflation rate is 2 percent.  Please calculate the present value of the option and determine whether the investment project is profitable for the firm.（6 %）
III. 申論題 (總分：46 分)：分析題請說明、並依題目要求做圖。
Ch 27

1. Regarding the financial system in our economy, please 

(1) name two financial markets. (4%)
(2) name two financial intermediaries. (4%)
Ch 32
2. 今年2月新聞報導：「隨著（總統大選）選舉行情點燃、政局穩定，外資大舉湧進台灣，加上海外資金回流，帶動新台幣急升。」請依據以上敘述，採用相關模型，做圖並分析「外資大舉湧進台灣」對可貸資金市場利率的變化、以及對外匯市場（台幣供需）匯率的變化。(14分)
Ch 33-34

3. 近兩年石油價格一直上漲，造成我國有停滯性通貨膨脹（stagflation）的現象。假設這次石油價格上漲是長期的現象，請以總合需求-總合供給模型（AD-AS model），(1)-(3)題請分別做圖與說明，分析短期與長期的產出與物價的影響。(共24分)
(1) 何謂停滯性通貨膨脹？(2分)
(2) 依照古典學派，若政府不採用任何政策，請問石油價格上漲會使哪些曲線移動？對產出與物價的影響如何？勞動市場的工資與就業又如何調整？（8分）
(3) 若依照凱恩斯學派，政府可能採用擴張性政策，請問將使哪一條曲線移動？對產出與物價的影響如何？請針對短期與長期分析。（8分）
＊ 若題(3)不與題(1)合併做圖，直接針對題(3)作答亦可，但請先說明，此時題(3)題滿分為6分。
(4) 擴張性政策若是採用貨幣政策，請以貨幣供需分析對利率影響如何？若是採用財政政策，請以貨幣供需分析對利率影響如何？可直接說明，不需做圖。（6分）
